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1. NO2 +hv           NO +O ?2. RC(O)O2           RC(O)O2 + NO2@ 
3. NO + O3        NO2 + O2 @ 
           O2                             O2 
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              2O2 
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               O2                                        O2 
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    [HCO3
-
] = [ªn ] = 2.00­10-3mol/l,  

    [OH
-
] = 1.00­10-7mol/l, ®¯°£±²³´

K1 = 4.45­10-7 
[H2CO3*] = [H

+
][HCO3

-
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      DO = 2mg/L = 2g/L
É�ÔÃÊ¼

BOD5 = 1.6mg/L = 1.6g/m
3
 

      DO = 8.95mg/L = 8.95g/L Õ�Ö
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B卷参考答案 

一、1. þÿ�������������;2. ����, �	
; 3. ���ÿ;4. D;5. �
����,����
; 6. .����Û SO2  NH3;7. O +O2+M     O3+M;    NO2 �HO2 �CFCl3 �8C�

9.B;10.D;11.B;12.A. 13.A;14. ��; �����  
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7
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(P244-246) 
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 abc/d3efgh4ijklmno, ;<c/pF&;<qrst�9:&4uvwA<i��xyz{noi��4|}4s't�A<i~�4�pF&������, ��c/A<i��vw�4s'���i;<4�9:&�D��;<��4A<i����4�i;<0�,
 ��c/9:&�<����4A<i�������, abc/s'��6�4��� ¡�¢., £5¤¥/151253¦§ �̈©ª¤¥/

455565859511¦«¬¤¥/105257, ­5®1 C̄oASH¦®2 F̄ADH2¦®3 H̄2O¦®4 N̄ADH+H
+¦®5 C̄oASH

,
 

六、解:已知 pH值为 9,[H
+
] = 10

-9
; [OH

-
] = 10

-5
 

  Kh = Ka[H
+
] + Kn + Kb[OH

-
] = 1.2×10

-2×10
-9
 +2.2 + 2.1×10

4×10
-5
 = 2.4 

七、解： 

1. 求混合后的 BOD5,ymin。 

)/(92.27
9830

274500

85001330

0.18500200133021
min Lmg

Qq
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y ==
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+
+
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2．求起始的 BODu L0 
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y

L
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03.01

92.27
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53.0
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0

1

=
−

=
−

=
−

= ×−−  

3.°±²³´µ¶·¸¹º Cx 

LmgC x /84.7
9830

5.77035

9830

9.007.108500007.91330 ==××+××=  

1. »¼½¾¿ÀÁ Th 

68.15
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154100
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158500201330 ==×+×=hT Â 
5.ÃÄ k1Å k2 

17.058.03.0135.13.0)135.1)(20()( 32.420

111
1 =×=×== −−TkTk  

63.090.07.0024.17.0)024.1)(20()( 32.420
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1 =×=×== −−TkTk  
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âã
15Âä16ÂåæÅçèÊËéêëì10.07 mg/LÅ 9.86mg/L 

15.68 ÂíåæÅçèÊË C0
ë
: 

C0=9.86+(10.07-9.86)î3/10=9.92mg/L 
D0 = C0 -Cx = 9.92-7.84 = 2.08mg/L 
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